morales (am226923) — Section 7.3 — martines — (53390)

This print-out should have 12 questions. Evaluate the integral
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To which of the following does the integral
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I = €T
/ V1 —x?

reduce after an appropriate trig substitution?
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To which one of the following does the inte-
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reduce after an appropriate trig substitution?

1. I

sec®(6) df
tan3(6) df

/
/

3. 1 = /tanQ(Q)seCS(Q)dQ
4. I = /sin2(9)86c3(9)d9
5. 1 = /sin3(9)d9

6. I = /sin3(9)sec2(9)d9
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Evaluate the integral
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Evaluate the integral
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Evaluate the integral
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Evaluate the integral 2. [ — 1(4_7)
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